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In the diagram, ¢ || d. Identify three numbered angles that have a measure of 71°.

14 2 ¢
30T71°
386 d
TNE
a. /5,78 and /2 c. Z1,78 and /3
b. £1,Z5,and £8 d. £1,22,and 23
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In the diagram, ¢ || d. Identify three numbered angles that have a measure of 57°.

5708 2 c
304
386 d
TNE
a. 24,78 and £6 c. Z4,75 and £8
b. £4,22,and £6 d. £5.28,and 22
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In the diagram, a || b. Find the value of x.

(x+13)

a. 45 c. 105
b. 135 d. 75
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In the diagram, a || b. Find the value of x.

(x+70)3

a. 55 c. 185
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In the diagram, 5 | c. Find the value of y. In the diagram, 5 | c. Find the value of y. o
el
c
80° b 62° b %
c
3
[}
=
E
4 4 W
2y + 18y 2y +36)°
a. 31 c. 41 a. 13 c. 77
b. 39 d. 49 b. 49 d. 41
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In the diagram, b _ c¢. Find the value of y. Civenz |
Frove: £g and./w 2re supplementary
66° b
: Saements
1lLal?
. 2 fgus =
3 srand sras mppbmenmry |3 Same-Sis hsrir Anges
4y +14¢ 4 zra o 4. Venitalds
: 5 sgud ovw appemsn |5 Swatwo
b
a. 32 c. 13
b. 25 d. 20
) Re asons
1 Guwen
1 Comesponding Anshs
a 3. Same-Side Exteriar Angles.
4 4 Vertcal Ansles.
5 £ratwam sppsmsney |5 Sestwbe N

4 noreofthess




sem_01_pt3_notes.gwb - 9/16 - Sat Dec 08 2018 16:25:39 sem_01_pt3_notes.gwb - 10/16 - Sat Dec 08 2018 16:25:40

red by red by
ExamVi m@ ExamVi m@

wsA % _ﬁuxe Write an equation of the line passing through the point (7, 2) that is parallel to the line y =5x+9 in
) slope-intercept form.

Staemeats Re asons
Tris T Gien
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2 smas
3 sc 50 13 e supplemarsary
4 Lea sk
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Write an equation of the line passing through the point (7, 2) that is parallel to the line y =5x+9 in Write an equation of the line passing through the point (—4, —9) that is parallel to the line y =6x—7in
slope-intercept form. slope-intercept form.
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Are the lines y = — + 5 and 5x — 5y =25 perpendicular? Explain.
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Are the lines y = —x + 8 and 2x + 2y = 10 perpendicular? Explain.
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Name an angle adjacent to ZEGH.
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Name an angle adjacent to ZFGI.






